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Questions

The word amorphous means:

The force which maintain the strict long-range order between atoms of a
crystalline solid is the:

The transition from solid state to liquid state is:

The transition from solid to liquid is actually from:

Each atom in a metal crystal vibrates about a fixed point with an amplitude
that:

Zirconia is classified as:

The solids are classified as:

Crystalline solids are in the form of:

The basic circuit element in D.C. circuit is:

The basic circuit element in A.C. circuits are:

Unless stated otherwise, when we speak of A.C. meter reading, we usualy
mean:

The length of rotating vector (on a certain scale) represents the:

A sinusoidally alternating voltage or current can be graphically represented
bv a:

Answers Choice

0w

MOOW» MUOWP MUOW:

MTOOW» MUOW» MUOWr MUOWP» MUOW:

TOOW» MUOW» MUO®W» MUOo»

. Without any structure
. With definite structure

. Regular arrangement of molecules
. Both (B) and (C)
None of these

Nuclear force

. Cohesive force

. Adhesive force
Coulomb force
None of these

Abrupt

Slow

. Continous
Discontinous
Both (A) and (D)

Order to disorder
Disorder to order

. Order to order

. Disorder to disorder
None of these

Decrease the rise in temprature

Is not affected by rise in temprature
. Increase with rise in temprature

. Both (B) and (C)

None of these

Ceramic solid
lonic compound
Metal

. Either (A) or (B)

. Either (B) or (C)

Metals

. Crystalline

. Amorphous
. Polymeric
All except (A)

Metals

. lonic Compounds

. Ceramics
. Both (A) and (B)
All of these

A capacitor

A resistor

. An inductor

. Both (A) and (C)

. Both (A) and (B)

. Resistor and capacitor
. Resistor and Inductor

. Capacitor only
Both (B) and (C)
None of these

Peak value

RMS value

. Instantaneous value
Peak-to-peak value
Both (A) and (CO

Peak value of alternating quantity

RMS value of alternating quantity

. Instantaneous value of alternating quantity
. Either (B) or (C)

. Either (A) or (B)

Vector
Rotating vector
. Clockwise vector
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If 250V is the RMS value of alternative voltage, then its peak value Vgwill be:

If we connect a A.C. volt meter to read A.C. voltage, It would read its:

The phase at the positive peak of an A.C. cycle is:

The alternative voltage of current is actually measured by:

The magnitude of alternative voltage V:

If we connected the ordinary DC ammeter to measure alternating current, it

would measure its:

The RMS value of alternating current is:

m

. None of these

B. 250V
C. 175V
D. zero

E. 400V

B. Instantaneous value

C. Valued average over a cycle
D. Zero

E. Both (B) and (C)

A. O<span style="font-family: &quot; Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">°</span><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

B. 90<span style="font-family: &quot; Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">°</span><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

C. 180<span style="font-family: &quot; Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">°</span><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

E. <span style="font-size:12.0pt;line-height: 107 %;
font-family:&quot;Plantagenet
Cherokee&quot;,&quot;serif&quot;;mso-fareast-font-
family:Calibri; mso-fareast-theme-font:minor-
latin;mso-bidi-font-family:&quot; Times New
Roman&quot;; mso-ansi-language:EN-US;mso-
fareast-language:EN-US;mso-bidi-language:AR-
SA">3/2 and 3</span><span style="font-
size:12.0pt;line-height:107%; font-
family:&quot;Plantagenet
Cherokee&quot;,&quot;serif&quot;;mso-fareast-font-
family:Calibri; mso-fareast-theme-font:minor-
latin;mso-bidi-font-family:&quot; Times New
Roman&quot;; mso-ansi-language:EN-US;mso-
fareast-language:EN-US;mso-bidi-language:AR-
SA">z/2</span>

. Its RMS value

. Square root of its mean square value
. Instantaneous value

. Peak value

o0Ow>»

Always increase
. Always decrease

Remains constant

moo wyp

. None of these

. Instantaneous value
RMS value

. Either (B) or (C)
. Either (A) or (C)

moow>

. 0.5 times the peak value

. 0.7 times the Instantaneous value
. Equal to maximum voltage

. None of these

mooo

>

Tha eama ac ite PDAMQ valiia
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The Instantaneous value of alternative current maybe:

Peak value of alternative current is:

The sum of positive and negative peak values is called:

The highest value reached by the voltage or current:

The entire wave form of sinusoidal voltage is actually a set of all the:

The waveform of alternating voltage is a:

The wave form of alternating voltage is the graph between:

The most common source of alternating voltage is:

The time interval during which the Voltage source changes its polarity once is
known as:

Nowadays, Most of the electric energy is produced by the A.C. generators
using:

Alternating current is produced by a voltage source which polarity:

Alternating current can be transmitted:

The direction of induced current is always so as to oppose the cause which
produces it. This is

Faraday's law of electromagnetic induction has been used in the construction
of:

ThAa lawu

Af AlantrAama~nnatina inAdiiatian ia ralatad $A

MOOW>» MOUOW mooOw)

moow>

B

111G Dallic ad 1w I\IVID valuc

. Greater than its Rms value

. Any of these
. None of these

. Equal to its RMS value

. The same as its peak-to-peak value
. Both (B) and (C)

. None of these

. Instantaneous value
. Peak value
. Rms valuie

. None of these

. In quarter cycle is called Instantaneous value
. In half cycle is called peak-to-peak value

. In half cycle is called Instantaneous value
. None of these

. Posiotive maximum value +V<sub>o0 </sub>and

zero
C. Zero and negative maximum value -
V<sub>o</sub>

moow

moow moow>

moom>

MOOW>» MUOm» MOUOW»> MO

UOow » MUOW

. Any of these
. None of these

Square
. Rectangular
. Saw-tooth

None of these

. Voltage across X-axis and time across y-axis
. Current and time

. Voltage and current
. Either (B) or (D)

Motor
. Transformer

. Both (A) and (C)
. Both (A) and (B)

. Half the time period

. Quarter the time period
Two third of the time period
None of these

. Geothermal energy
. Solar energy
Biomass

. Both (B) and (D)

. Remains the same

. Reverse after period T
. Keeps on reversing with time
. Reverse after every time interval T/2

. To long distance
. At very high cost
. At very low cost

Both (A) and (B)

. Ampere's law
. Faraday's law
. Coulomb's law
. None of these

. Galvanometer
. Voltmeter
. Electric motor

. Commutator

. Coulomb
. Ampere
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The rate change of area expressed is expressed in:

Plan of a coil makes an angle of 20° with the lines of magnetic field. The angle
between B and vector area of plane of coil is:

A square loop of wire is moving through a uniform magnetic field. The normal
to the loop is oriented parallel to the magnetic field. The emf induced in the
loop is:

A metal road of length 1mis moving at a speed of 1 ms~'In a direction making
angle of 30° with 0.5 Y magnetic field. The emf produced in the rod is:

Motional emf is called motional:

When the conductor moved across a magnetic field:

A coil of constant area is placed in a constant magnetic field. An include
current i nrodiiced in the enil whan-

D. Lenz
E. None of these

A. None of these

B. ms<sup>-1</sup>

C. m<sup>2</sup>s<sup>-2</sup>
D. ms<sup>-2</sup>

A. Also 20<span style="font-family: &uot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">°</span><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

C. 90<span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">°</span><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

D. 180<span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">°</span><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

E. None of these

. Of smaller magnitude

. Of larger magnitude

. Sometimes B, sometimes C
. Neither of these

0.25N
25V

25N
25V

MooOw» MmMUOw

. Electromagnetic force and is measured in newtons

. Electromotive force and is measured in newtons
. Electromagnetic force and is measured in volts

. None of these

. Emf induced is similar to that of a battery<p
class="MsoNormal" style="text-align:justify"><span
style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

B. Emf induced gives rise to induced current<p
class="MsoNormal" style="text-align:justify"><span
style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

>m OoOwpP

D. All are correct<p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

E. None of these<p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

A. The coil is destroyed
B. The coil is Rotated
C. The coil is neither destroyed nor rotated
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The magnitude of induced emf depends upon the:

In magnet-coil experiment, emf can be produced by:

The induced current in the loop can be increased by:

The induced current is a conductor depends upon:

The phenomenon of generation of induced emf is called

Aninduced current can be produced by

An emf is set up in a conductor when it:

The current produced by moving a loop of a wire across a magnetic field is

called:

When the charged particle is projected at right angles to the field, then

experienced by it will be:

A long wire wound tightly on a cylindrical core is called:

Magnetic flux passing through the an element of are A placed perpendicular

to a uniform magnetic field Bis:

Magnetic flux passing through a element whose vector area makes an

angle0° with lines of magnetic force is:

. None of these
. Rate of decrease of magnetic field

. Rate of increase of magnetic flux
Constancy of magnetic field
None of these

. Keeping the coil stationary and moving the magnet
. Keeping the magnet stationary and moving the coil
. Relative motion of the loop and magnet

Any one of above

UOW» mMUOowpE m

. Using a stronger magnetic field
. Moving the loop faster
. Replacing the loop by a coil of many turns

. Both (A) and (B)

. Resistance of the loop
. Speed with which the conductor moves
Any of these

None of these

. Electrostatic induction
Magnetic induction

. Electric induction
. Both (A) and (D)

. Constant magnetic field

. Varying magnetic feild
. Constant electric field
None of these

. is kept in a magnetic field
. is kept in a electric field

. Both (A) and (B)
None of these

. Direct current
. Magnetic current

. Alternating current

None of these

Maximum

Zero

qvB

. Both (A) and (B)

UOwW» MUO WP MUOm» MUOw» mMUOom» mMUOow» mMoUuOom»

. Potentiometer

. Toroid
Wheat and stone bridge
. None of these

mooo»

Minimum
Zero

. Very small

. None of these

moow

A. BA<span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">Cos@©</span><p class="MsoNormal"
style="text-align:justify"><span style="font-
size:12.0pt; line-height: 107 %;font-family:&quot; Times
New Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

B. Zero

D. BA sin<span style="font-size:12.0pt;line-
height:107%; font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:Calibri; mso-fareast-theme-font:minor-
latin;mso-ansi-language:EN-US;mso-fareast-
language: EN-US;mso-bidi-language:AR-
SA">O</span>

E. None of these

A. -y direction
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AT a given InNstant, a pnoton MOovVes In +X airection In a region wnere mnere
magnetic field in -z direction. The magnetic force on the proton will be the:

NmA-Tis commonly called:

Strength of magnetic field is measured in Sl units, in:

The permeability of free space is measured in:

If the number of turns of a solenoid (carrying a steady current 1) is doubled
without changing the length of a solenoid, then magnetic field:

The magnetic field inside a solenoid can be increased by:

Total number of turns on 0.15 m length solenoid is 300. the value of n is:

Hold the solenoid in the right hand with fingers curling in the direction of current.

The direction of the field will be given by:

In the formula B= nl, the symbol n denotes:

. +z direction
. -z direction
. None of these

moo

Apmere
Guass

. Coulomb

. None of these

moo®

N

Am/N
Nm/A
. None of these

moow>

Wb A/m
Am/Wb
m/Web A

. None of these

moow

. Becomes Half

. Is not affected
Becomes one fourth
. None of these

moow»

. Increasing n
. Decreasing |
. Increasing |
By using iron core within solenoid

oowp

B. Smaller than 300
C. Equal to 300

D. Any of (A) or (B)
E. Any of (A) or(C)

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Curled
fingers<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Middle finger<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Arm of right
hand<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Total number of
turns of solenoid<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Number of turns
per unit volume<o:p></o0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Numbers of turns
per unit area<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&auot;.&auot;serif&auot;">Number of
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A field is uniform and much stronger:

A solenoid is a coil of wire which is:

Amperean path is a:

moles<o:b></6:p'></épan><'/p> '

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Outside a long
solenoid<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">At the end of a long
solenoid<o:p></o0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">At the central point
of long solenoid<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Short, loosely
wound, cylindrical<o:p></o0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Long, tightly
wound, spherical<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Long, loosely
wound, cylindrical<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Closed path<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Rectangular
path<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Circular path<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Broken path<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Faraday’s law<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-

famih, RAnint-Timae Naw
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Magnetic induction is also called as:

if the field is directed along the normal to the area, then flux is:

the current is pass through the straight wire. The magnetic field established around
it has its lines of force:

Magpetic lines of force:

an IIIy.LXhlbIUI., 1LHTIGO INGVY
Roman&quot;,&quot;serif&quot;">Lenz's law<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Newton’s law<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Coulomb’s
law<o:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Maximum<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Equal to zero<o:p>

</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Equal to BA<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Minimum<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Oval in shape and
endless<o:p></o0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Straight<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Parabolic<o:p>
</o:p></span></p>

E. All are true

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Intersect at
infinity<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Intersect within
magnet<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Intersect at Neutral
Point<o:p></0:p></span></p>

E. <span style="font-family: &quot; Times New
Roman&quot;, serif; font-size: 16px; text-align:
justify;">None of these</span>

R <n rlacs="ManNarmal" stvle="taxt-alinn-instifi/">
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magpetic field is a:

The pointer of a magnetic compass:

It is customary represent a current flowing towards the reader by a symbol

A current carrying conductor sets up its own:

In the region surrounding a current carrying wire:

[ ot v segre vore g ey -
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Scalar
quantity<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Scalar as well as
scalar quantity<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Any of (A) or (B)
<0:p></0:p></span></p>

E. Neither (A) nor (B)

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">ls affected only by
permanent magnets<o:p></o0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Vibrates in the
magnetic field of the current<o:p></0:p></span></p>
D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Aligns itself
perpendicular to the magnetic field<o:p></o:p>
</span></p>

E. Both (C) and (D)

A (x)
B. (+)

D. (-)

E. (<span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">+)</span><p class="MsoNormal" style="text-
align:justify"><span style="font-size:12.0pt; line-
height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric field<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Nuclear field<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Magnetic field<o:p>
</o:p></span></p>

E. All of these

A. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">A magnetic field is setup</span><p
class="MsoNormal" style="text-align:justify"><span
style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">The lines of force
are elliptical<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Direction of lines of
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‘When some compass needles are placed on a card board along a circle with the
center at the wire, they will

Electrolysis is the study of conduction of electricity through:

Two dissimilar metals joined at their ends kept at constant temperature constitute:

The magnitude of chemical Effects depends upon:

forces depends upon direction of current<o:p></o:p>
</span></p>

E. All of these

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Set themselves
tangential to the circle<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Point in the
direction of E-W<o0:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

E. Point in direction of S-E

A. Solids

C. Gases
D. Plasma

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Cell<o:p></0:p>
</span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Voltmeter<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potentiometer<o:p>
</o:p></span></p>

E. None of these

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Nature of
liquid<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Quantity of
Electricity passed through the liquid<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Color of the
liquid<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (C)
<b><0:p></0:p></b></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">In electric
motor<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
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Magnetic effect of current is used:

The strength of magnetic field at certain points around a wire depends upon:

The passage of current is accompanied by a magnetic field in the surrounding
space:

The passage of current is accompanied by a magnetic field in the surrounding
space:

family:&quot; Times New
Roman&quot;,&quot;serif&quot;">To detect
current<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">To measure
current<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Value of current
passing<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Distance from the
current element<o:p></o0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Color of the
material<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (B) and (C)
<0:p></0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Sometimes
accompanied<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Never
accompanied<o:p></o:p></span></p>

D. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">Any of above</span><p class="MsoNormal"
style="text-align:justify"><span style="font-
size:12.0pt; line-height: 107 %;font-family:&quot; Times
New Roman&quot;,&quot;serif&quot;"><o:p></o:p>
<Ispan></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New

Roman&quot;,&quot;serif&quot;">Sometimes
accompanied<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Never
accompanied<o:p></o:p></span></p>

D. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">Any of above</span><p class="MsoNormal"

aa_ e —m —s w4
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Heating effect of current utilized in:

As the current flow through the wire:

The obvious effect/s of current is/are:

style="text-algn:jusury ><span style="Tont-
size:12.0pt; line-height: 107 %;font-family:&quot; Times
New Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric motor<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric
toaster<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electroplating<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric kettle<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">It produces sound
in the wire<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Resistance of the
wire decreases<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Voltage across the
ends is increased<o:p></0:p></span></p>

E. None of these

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Heating effect<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Magnetic
effect<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Chemical

effect<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (C) and (B)
<0:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Decreasing from
zero to maximum<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<snan stvle="font-siza:12_0Ont: line-heiaht:107 %:font-
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When two spherical conducting balls at different potentials are joined by metallic
wire, the current starts:

The device which can convert heat energy into electrical energy is called:

Conversion of chemical energy to electrical energy can be achieved by:

The example/s of non-electrical energy to electrical is/are:

famiy:8quotTimes New
Roman&quot;,&quot;serif&quot;">Increasing from
zero to maximum<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increasing from
maximum to zero<o:p></o0:p></span></p>

E. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">Both (A) and (D)</span><p
class="MsoNormal" style="text-align:justify"><span
style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p>
</span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Thermistor<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Thermometer<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Thermostat<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (C) and (D)
<0:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Primary cell<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Secondary
cell<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Photovoltaic
cell<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Solar cell<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Chemical
energy<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Mechanical
energy<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Heat energy<o:p>
</o:p></span></p>

D. <n class="MsoNormal" stvle="text-alian:iustifv">
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When two spherical conducting balls at different potentials are joined by a
metallic wire, after some time:

When two spherical conducting balls at different potentials are joined by a
metallic wire, after some time:

In order to have a constant current through wire, the potential difference across
its end should:

family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both the
conductors are at the same potential<o:p></o:p>
</span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors remain constant<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors becomes zero<o:p></o:p>
</span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<0:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both the
conductors are at the same potential<o:p></o:p>
</span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors remain constant<o:p></o:p>
<Ispan></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors becomes zero<o:p></o:p>
</span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<0:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Be zero<o:p></o0:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Goes on
increasing<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Go on
decreasing<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<0:p></0:p></span></p>
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An electric field is generated along the wire when:

The effects of bends in a wire on its electrical resistance are:

When resistance of a current carrying wire increases due to rise in temperature,
the drift velocity of electrons:

WWhan a ~ranctant natantial diffaranca ic annliad anrnce tha nandictar tha Amft

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">lIts resistance is
very high<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">A constant
potential is maintained across the wire<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Net current through
the wire is zero<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either (A) or (D)
<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Much larger<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Larger<o:p></o:p>
<Ispan></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Smaller<o:p></o:p>
</span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increases<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Remains the
constant<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either of
these<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increases<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Decreases<o:p>
</o:p></span></p>
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velocity of electrons:

‘When a constant potential difference is applied across the conductor, the drift
velocity of electrons:

The term drift velocity is used when the ends of a wire are:

Ifthe ends of'a wire are connected to a battery an electric field E will be set up
at:

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either of
these<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increases<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Decreases<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either of
these<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New

Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Connected to a
laser source<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Connected to a
voltage source<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Not connected to a
voltage source<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">At different values
of potential<o:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">The ends of the
wire only<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Mid points of the
wire only<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Every point within
the wire<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (B) and (D)
<0:p></0:p></span></p>






